=§ Mechanismus.1, Freiheitsgrad=0

= Verbindungen
Tf@ Rotieren.1 (Lager Fix.1,Exzenterwelle.1)
Tf@ Rotieren.2 (Zahnrad gruen.1,Exzenterwelle.1)
Starr.3 (Zahnrad gruen.1,Rotationskolben.1)
Starr.4 (Rotationskolben.1,Dichtung.1)

= Befehle
— E.‘ Befehl.1 (Rotieren.1,Winkel)
- E.‘ Befehl.2 (Rotieren.2,Winkel)

= Festkomponente ( Lager Fix.1)

ﬁ; Fixieren.28 (Lager Fix.1)

= Regeln

— fta Formel.4: Mechanismus.1\Befehle\Befehl.1\Winkel=1080deg * Mechanismus.1\KINTime /5s
— fa Formel.5: Mechanismus.1\Befehle\Befehl.2\Winkel=720deg * Mechanismus.1\KINTime /5s

—@Geschwindigkeiten — Beschleunigungen



